Math 6 - Unit 1: Number System Fluency Name: FINSUWIEL. L/-E\!

Mid-Unit Test STUDY GUIDE - OL "} ‘
Class Period: 1 2 3 4 Date: !

1} What does 45 + 9 mean?
T+ means, how many greups of 4 are tn HS?

2) Is it possible to find the "Greatesf Common Multiple" of 2 numbers? ; : |
3 B ka12- NO, ecause ruHiples ge on -G:re)/ern

: Cinfinite)
3) Find the greatest Eommonactor of 14 and 28. ‘ l
28 GeF = Fx2A1Y

‘r_
;72% = ,‘-1— LcM=2x5><5=@]

5) List .A_l..l_: the factors of 182 s ' ; ‘
2_' = _
>l6 : : L ‘ |

é) List the first 4 multiples 67 8)
“I¥8 2Zx8  3AS yxs

- §, b, 24 32
7) List two numbers that are NOT divisible by 3¢

= )

8) If a number isn't even, can it be divisible by 6¢

NO, because in order to bc divisible by G, rt has

1o be divisible by both 2 ~+3 Since not eue-& z
9) Lauren buys dog food every 4 days and cat food every 5 days. If she buys |90 b = Ctor |

Sivice 2 I‘Sn'—l—- |
& con H+be,

Q

4) Find the least common *nulh fé6and 10

bofﬁ ki_r‘{qs of p_éf food today, in how many days will she next buyinds
ey 8,12,16 20TH OAY SHE wilL Buy BsTH
£ S, e -
of pet food?

10) Eggs are sold in pcckcges of 12 and English muffins are sold in packages of 6. What is th-
number of packages of each that can be bought fo make egg sandwiches (one egg and one

muffin) with no muffins or eggs left over?  t=C M\ Lx2%| = |
i -~ NDWICHES
E:lZ rloliz 6 A
M2 6 V03 2 l \IF’ACK OF EGGS .
Jap—

2 A OF MUFFINS

—
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11) Ticket sales for a concert totaled $77,778. Tickets for the concert cost $18 each. How many

tickets were sold? 18 F+3 33

12) Aroller coaster train holds 32 passengers. If there are 264 people in line fgride, how many times
 Will the train have to go for everyone to be able fo ride? 22J76C ’gg_
_250,

[75 +rai ns[ =
oo 256
who War e—h: ridce Dk
13} There are 35 kids in g Class. The teacher igsputting themin teams of 7. How many complete

t f7 can be made?
€ams of 7 can be made? 335 5 TEAMS +)36
| -

14) Jonathan has two rolls of str‘eomer's td use in decdroﬁng the school gym for a pep rally. The blue
rollis 48 yards long, and the yellow is 16 yards long. If he wants to make all of the streamers the

same length, what s thengfh eachstreamercanbe? e Sx2= |l
Llus 1o
| — lbyds long

15) How can you quickly determine if o n%mber isl divisible by 52

BNOS  IN ZERO g £ o

16) What number is a factor of all numbers?

17) A bookshelf is 17 inches long. Math f&s;':i';*,%ﬂoks are 3inches. How many math textbooks can go

on this shelf2 3—)—‘1" E b | :P' +{

=15
i . 4
18) There cre\@bys and 24 girls playing in a co
- girls, and €ach team must have the same nu
‘the following questions. Show your work and

* ‘a) What s the @wmber of teams they can make? [_Z___\ZLBQ, 24

b) How many boys will be on each team? = P
c) How many girls will be on each team? Ny :

-ed softball league. All teams will have boys and
mber of girls and the same number of boys. 'Answer
Clearly explain it in complete sentences.

\

19) 520/+3= LT “ 20) 9990 + S—SJT ._;8
B[990 &
j90¢- s
§.99 ‘
. O

90,
9.
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